8 7 6 2 | 1
REVISIONS
[> NOTES R | & APPROVAL
[WL00S /| TLC
1. STANDARD GLAZING OPTION — .125" Vv TLC

MINIMUM DSB GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR
WIND—-BORNE DEBRIS REGIONS.

2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE
RAILS AND STILES OF EXTRUDED ALUMINUM
ALLOY 6063—T6 WITH A 2—1/4" INTEGRAL FIN
AND .125" MINIMUM DSB GLAZING INSTALLED
WITH ALUMINUM RETAINERS IN ORDER TO
MEET UNIFORM STATIC DESIGN PRESSURES
SHOWN ON THIS DRAWING. AFV PANEL SIZE IS
51.5°x21.9" (MAX). GLAZING IS NOT IMPACT
RESISTANT AND DOES NOT MEET THE
REQUIREMENTS FOR WIND—BORNE DEBRIS
REGIONS.

3. MINIMUM OF 1" OVERLAP ON BOTH JAMBS
REQUIRED TO MEET NEGATIVE DESIGN
PRESSURES.

4. SLIDE LOCK OR OPERATOR REQUIRED.

5. SECTION STEEL TO HAVE THE FOLLOWING
MINIMUM THICKNESS:
421, 423 — 20 GA
427, 429 — 24 GA
434, 436 — 25 GA

6. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE
RESPONSIBILITY OF THE PROFESSIONAL OF
RECORD FOR THE BUILDING OR STRUCTURE
AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS
DRAWING.

7. TRACK CLIPS SHALL BE LOCATED WITH
CENTERLINE OF BOTTOM CLIP SPACED 10°
MAX FROM BOTTOM OF TRACK AND REMAINING
TRACK CLIPS SPACED AT 24" 0.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND
SPLICE PLATE SHALL BE 30" 0.C. MAX.

8. WHEN MOUNTING TO WOOD, DOOR JAMB TO
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER.
REFER TO JAMB CONNECTION SUPPLEMENT
FOR ATTACHMENT TO SUPPORTING
STRUCTURE.

WOOD SUBSTRATE. SEE
SHEET 3 FOR MOUNTING

T0

1/4-20 HEX NUTS AT

(SEE DETAIL A SHEET 3)

ANGLE) SEE NOTE 7 AND

OPERATOR — SEE NOTE 4)

NOTE:  (4) SECTION SOLID DOOR
SHOWN. SEE SHEET 2 FOR U-BAR
LOCATIONS ON DOORS WITH OTHER

SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE

LAG SCREW AT EACH

(WELDED, BOLTED, OR

13 GA HORIZ ANGLE\

15 GA MIN HORIZ
TRACK

13 GA CONTINUOUS
ALL ANGLE

15 GA MIN_VERT
TRACK N

5/18"x1-5/8" —|

v

HOLE LOCATION FOR 4

OTHER SUBSTRATES.

€ DOOR |

&

)

(1) 1/4—20x8,/16"—
TRACK BOLTS AND N

EACH TRACK CUP H

LOCATION

U
11 GA TRACK G.IPS—/

RIVETED TO WALL

DETAIL F SHEET 3

SLIDE LOCK ONE END——L1}
(NOT REQUIRED WITH

[E—y

20 GA CENTER STLE— |k

HEET

SECTION QUANTITIES AND SEE NOTES 1 0
& 2 THIS SHEET FOR GLAZING o)
OPTIONS.

SN

MAX | 5ooR | MAX UNIFORM LOAD EACH JAMB
DOOR | pjgHT

WIDTH

o4 | AL $97.2/-109.7

% J.C.VOELKEL

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.9/-23.6

MAX WIDTH: 9'-4"

h > 133174

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

7 I

b

P X

-

e OF T\
«P‘ JERTTITI P :kqg
- N Christian Voelkel

'--n---.-.--..----...-.-..u..-l

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

ruvmmmmmmumrrsmum

PROPRIETARY PROPERTY.
INER DR DISCLOSED TO ANYONE VITHOUT THE PRIDR VRITTEN CONSENT OF DVERHEAD DOOR
TD[PERATEASALMISE[RMII‘H[R]ZATII]NTDLBEHFIRMVHRPBIV‘IHMTHESPEW'CVW

3
8/12/2020

OVER S00 +.008/-003

COMPANIES.
MAT.IDN. NO nm.usun: OF
IIIISBIT I‘.IVEH'EA'II DOOR_CORPORATION.

INII.DAI'I OPTION CODE 2063
421/423/427/429/434/436,
.9/-23.6 PSF, 9'-4* MAX

1/721/21

W& D- 411779

4/27/21 o W/A

[s=r1 ¢ 3

| 1



chris
Texas


8 7 6 S

1/4-20x9/18" TRACK BOLT
AND 1/4-20 HEX NUT
THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP

12 GA COMMERCIAL TOP FRAME /[
BRACKET WITH 13 GA ROLLER
CARRIER ATTACHED WITH (4)

1/4-14x7/8" SELF DRILLING J
CRIMPTITE' SCREWS \ ;
\, /
. S
Jdl
DETAL B
2* STEEL ROLLER WITH .
5-1/8" STEM AND 7/16" 7P
PUSHNUT AT EACH ROLLER /

LOCATION.  1/4” MAX :
BETWEEN PUSHNUT AND |
BRACKET OR HINGE—\‘__

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS

oglEG ANv[l)I TWO. y .. P
13 GA WIDE_BODY END -
HINGE TO ATTACH DETAL C
REMAINING SECTIONS. FOR

ALL, ATTACH WITH (4)

1/4—14x7/8" SELF DRILLING

CRIMPTITE SCREWS

14 GA WIDE_BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7 /8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET 7
ATTACHED WITH (3 -
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

(12) SECTION DOORS WITH
(9) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(8) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(7) 3° 20 GA B0 KS| U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(7) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(6) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WTH
(5) 3* 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(4) 3° 20 GA B0 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(4) 3* 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(3) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

ATTACH U-BARS WITH
(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.9/-23.6

MAX WIDTH: 9'-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

7 I

THE DRAVIES D aLL TTHER DWTRMATION COUT AT, PRIFETARY PRCPERTY [F ONERFERD JCOR CORPORATION 0 Trs AFLIATED CNPANTE.
AND IWDRMATIO N.mvm.:mmpm,mvum!mmmmwmmmw:ﬂ ANRE VITHILT THE PRIDR VRITIEN CENSENT [F IVERHEAD DR CORPRATION 6 DISGOSRE D
ANY 0F THIS BGAVING R NETROWTIIN 1§ INTENDED T DPERATE. S A LICENSE OR AVIWIZATION 0 USE I FLR AY PRFIS: VITWOIT THE SPECFIC VRITTEN CINSINT I OVERHEAN DO CORPORATIN
. € The tGemmine. The Crigial — DATE mmummn = ION CODE 2063
LEVISVLLE,
T gy ™ "T'CLark | 8/12/2020 21/423/427/429/434/436,
o 5/-236 PSF, 9'-4' MAX
e RIAN a1z
N/A VD B B D- 411779
Twrove | T CLARK | 4/27/21 s N/A__ Jswiz o 3



chris
Texas


8 7 6 S 4 3 2 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: £60XX MIN. DLO= 5°X20"
TRACK CLIP
. OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4-20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—-20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAI
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
e e
LOCATION FOR WOOD
SUBSTRATE.
MOUNTING WALL ANGI
TRACK CUP
1
PLASTIC FRAME % oL A
1/8" ANNEALED DSB GLASS (MIN) iy
DLO= 5 3/4"X22 7/8" WDOD NOUNTNG DETAL = ANGLE QUT
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
W
IN DIt

ALUMINUM FULL VIEV FRAME

VIEW

CONTINUOUS
WALL ANGLE

(2) 1/4* x 7/16f
SEMI TUBULAR

RIVITS OR (2)

1/4"-20 TRACK \
BOLTS WITH NUTS®,
OR (2) .28" DIA

RESISTANCE SPOT

WELDS

i -o=l— i

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.9/-23.6

MAX WIDTH: 9'-4"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

7 I

3, SMPSON TITEN HD,
l;l/{-' MIN_EMBED INTO
']

12GA_SCAB BRACKETS (OPTIONAL)
© 12° SPAGING SECURED TO WALL
ANGLE WTH 1/4-20 TRACK BOLT
AND 1/4—20 FLANGE NUT

WALL ANGLE FACING
INWARD

MIN 3/18° THICK
STEEL FOR

TRACK cLP - WALL ANGLE MAY BE ATTACHED
1/4-20x9, ING STEEL WITH MIN. (1) 1/4—20x7/8"
ACK B 6 = 0.0. W AT
1/4-20 HEX HOLE OR PAIR OF HOLE LOCATI
TRACK NG
MOUNTING To STEFL DFTAIL
és\\\\\
) \
- P‘ [P TIT TN
- AV e .. q
-~ 9 o '-.\9 .
L] L)
F ., * l'
’ .o o..
"""""""""""""""'" THE DRAVINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE AND PROPRIETARY PROERTY OF OVERFEAD JODR CRPORATION AND TTS AFFILIATED COWPANIES. THIS DRAVING
4 AND IWDRMATION, IN VHILE R IN PART, MAY NOT 3E COPIED IN ANY MANNER DR TO ANYONE WITHILT THE PRIDR VRITTEN CONSENT OF OVERHEAD DOCR CORPORATION. NO DISCLOSURE OF
4 J C VOELKEL ANY OF THIS IRAVING OR IWDRMATION IS INTENDED TO PERATE AS A LICENSE OR AUTHLRIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIFIC VRITTEN CONSENT OF OVERWEAD DOOR CORPORATION.
AT = e INDLOAD,OPTION CODE. 2063
, + T CLARK 8/12/2020 423/427/429/434/436,
o = w — 5/-236 PSF, 9—4* MAX
E DRMWING
+ =y e D- 411779
+ T CLARK | 4/27/21 |ows N/A__ |sei3 o 3

2 | 1



chris
Texas


		2021-05-03T10:14:50-0500
	John Christian Voelkel




